PART 2 | MAAI&Z| 2=

& =::=

(1) 2 ti$ (Boolean Algebra)

1) shuke] BAZE 3 E= A7 ddeke

2) AFE= 13 09 F 7HH dEEnt 19

wo} glevw, oH3 =edrE e

® 0 ™ 9 o
L
O
&

A-B | A+B

oo = =

+
0
1
1
1

o= o =

A+ B+O=QA+ B+ C
A-B-O=A-B-C
3) vl A
A- B+ CO=A-B+A-C
A+ B-O=A+B-A+ 0O
4) HEHA
A+ A=AED
c A A=A 003

104



[

5 H ]

A
¢ A

™
H

b

+
=

=1
=0

6)

o

Fe

L.
LD

A+ 0=AED

cA+1=1
e A-0=0
cA-1=A

7) A 2

« AB+ BC+ CA=AB+ CA

2) A

DA+A-B=A-(1+B) =A-1=A EBED
@A+A-B=A-(1+B)=A-1=A @®

Gisapass
7IAIRASHE

@ A+A-B=A+A)-(A+B) =1-(A+B) = A+ B EBEB0D
@AA+B) =AA+A-B=A+A-B=A-(1+B) =A-1=A0®
®A-A+B) =A-A+A-B=0+A-B=A-B

® A-(A+A-B)=A-A+ A-A-B=0+ A-B=A-B
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